Приложение 2
Самостоятельная работа

Вариант А
1. Дано: а || b;  3 = 28о.

[image: image1]
Найти остальные углы.
2. Дано:  1 =  2.

[image: image2]
Доказать: а || b.

3. Дано:  1 =  2;  2 +  3 = 180о.


[image: image3]
Доказать: а || с.

Вариант Б
1. Дано: а || b;  3 меньше  4 на 30о.


[image: image4]
Найти: углы 1-8.
2. Дано:  1 =  2.

[image: image5]
Доказать: а || b.
3. Дано: AD || BC;  ACB = 50о;
AC – биссектриса  BAD.


[image: image6]
Найти:  АВС.
Вариант В

1. Дано:  1 =  2 = 35о.

 3 = 42о.


[image: image7]
Найти:  4.
2. 


[image: image8]
Доказать: а || b.
3. Дано: АВ || СЕ;  ВАС = 20о;
 ВСЕ :  ECD = 4:1.

[image: image9]
Найти:  BCD.
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